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5. Shade your answers in the Optical Answer Sheet (OAS) provided.
tlarks Obtained : '

Booklet & | i " - : .
120 -
Boolkiet B
160
Totat
1186
Rame: _ ¢ )
Ciass: P &

Date : 19 Adkgust 2008 Parent’s Signature:

La




Section & {20 marks)

Quesfions 1 to 10 cary © mark each. Guestions 11 to 15 carry 2 marks each.
For each question, 4 options are given. Only one of them is cornacl,

RMake your choice (1, 2, 3 or 4}. Shade the correct oval in the optical answer
shesat. '

1.

Which one of the following decimals is the smallest?

(1)0.3
(2) 0.29
(3) 0.045
(4) 0.178

L ook at the number line below.

15.7 158 159 | 160 16.1

Whaﬁ is the value of A7

(1) 15.95
(2) 15.94
(3) 15.93
(4) 15.92

If 745 + 5= 149, whatis the missing number in

745 ={ 1 =01497

| (1)5

(2) 50
(3) 500
(4) 5000

6t



Simpliy 17p - 20 - 3p +6.

{(1)26p + 14
(2) 26p — 14
(3)8p + 14 -
(4)8p—14 ~

Find the value of (15 ~ 20 + 13) +12+2

(1) 10
(2) 14
(3) 15
(4) 24

fx:y=4:3andy:z=2:gq, vmatis‘g::z‘?

{(H4:9
{(2)8:6
(3)8:27
(4)8:27 "




7.  ABCD s a reciangle. Find £ x.

A D

(1) 29°
(2)61°

(3)119°
(4) 151°

8. Pipe Atakes 2 T4 up a pool. Pipe B takes 4 h fo fill up the same pool. If both
pipes are usedfogether) how fong does it fake to fill up the pool?

3
Uil

1
@) 12 h
(3)2h
(4)6 b

&3



8. Belowis the net of a cube

t 344 G‘J S ;?EJ

Whatis the number that will be seen Opposite Yhe face marked X when it is folded-
up? o

(1) 1
(2)5
(3)6
(4) 4

10. Alex’s allowance is g of Ben's. Derrick’s allowance is % of Alex’s.

If Ben’s alfowance is $48, what is Derrick’s atlowance?

(1) 836

(2) $32

(3) $24- . :
(4) %12 ‘

1. Which of the fniéowing figure{s) has gxacﬂg‘? lines of symmefry?

AN

e R

51;; 'lLE"

e & = S : 9@1.;7
A 4 \‘ ‘77.’ 3 %

{1} B only

{2} D oniy
(3)Aand Boniy
(4) B and D onfy

b¢:




12. The figure is made up of 1 big semiarc-ard 4 identical small semi arcs. The length
of diameter(ABis 28 cm. Find th¢ perimeterdf the figure.

jTaken= g_}z—}

{1} 22 cm
{2} 44 cm
(3} 88 cm
(4) 176 cm

13. The average mark of Sandy's math tests was 78. When one of the test marks was
increased by 12, the average mark became 82. How many math tests did she-
take?

{1)36
(2) 48
(3)3
(@) 4



4. ABCDis arectangle. Point E is haifway betwesn point A and point B, point F is

15,

halfway between goint B and poin

tE, and point G is halfway between point C and

point 0. What pércentage)of the figure is ufishaded®

3]

C

s

s,

i

’/,”(/;

i \ \-\‘
A £ B
{(1)25 %
(2)375%
{3)62.5%
(D75 %

Beter cycled 20 tninuted at an -average speed of 18 'anlh,'He tﬁen confinued at an

average speed of 20 ke for % h. Hovifarjdid he cycle?

{1} 6 km
{2) 8 km
{3) 14 km
{4) 48 km

-

44
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BOOKLET B
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Class : PG

SECTIONB ‘
Cuestions 16 to 25 cary 1 mark each. Write your answers in the spaces

provided. For questions which require units, give your answers in the
urtits stated. (10 marks)

16. What is the missing number in the box?

+ + + - = X + 1

1
3

L | -t

AP P R |
3 3 3 3

Answer :

17. Find the value of 36.3 = 6.

Answer :

L7




18. Find the value of

4c+8
S—c

whene=§

Answer :

19, PARS is a square with area 72 om?. FindQs'
P : (g
@ R
Answer : cm

20. - The@verags of 5 consecutive numbers is 124. Write down the smalfest number,

Answer: .

6§




2% A B C 0
{ 5 g 13

29 25 21 17

33 37 41 | 45

61 57 53 49

" The number “85” wilt appear in column

Answer :

22. The figure is madé up of 4 identical semi-circular arcs of diameter 14 cm. Find the
fared) of the figure. '

[Taker = %g-]

Answer - it

¢



23. A table-tennis training session starfed af 8. 239.m and lasted for. 4 h 37 min. What
time did the training enjd?} Give your answer in{24yhour clock.

“Answer :

24. 15 cats can catch 15 rats in 15 finutes How long does it take 60 cats ta catch 60
rats? -

Answer : - : _min

25, A car fravels  from iqwh A to Town B at an average speed of 9@h. Aoy
travels fromfﬁB to Town A at an average speed !'of"GS‘h; they passed
each other mow far apast are the two fowns?

Answer : ﬁ'(-_}

3




Questions 26 to 35 carry 2 marks each. Show your working clearly in the
-space belov each question and write your answers in the spaces
provided. For guestions which require units, give your answers in the
urtits stated.

{20 marks)

26.

27.

Mr Lee wants to buy firewood for a campfire. For every bundie of 25 pieces of

- firewood he buys, he gets 5 pieces of firewood free.

How many pieces of firewood must he buy in order to get 120 pieces of fircwood?

Answer : ' i2]

The éoﬂdggiow is made up of 5 identical cubes. The shaded area is 96 cm? Find
the GotumeofDcube. A

Answer : o [2]

ki



28. The pie chart below shows how Jonathan spent his time on a particular day.
How many hours did ke spend playing?

Playing | Tyition

25%
Sleeping

Answer : 7 h.i2]

29. Yanti bought a chicken and 3 ducks for $(7w + 9).
If the chicken cost $4, what was the price of ajduck?
Leave your answer in terms of (i)

Answer - $ - : 12}

30. 45 pupils shared a box of sweets equally. 9 of these pubils gave ail their sweels fo

the rest of the pupils. As a result, the rest of the i} received @ sweefs
each. How miany sweets were there in the _boké firs '

Answer: 2]

7




31. The figure shows a shaded walking path made up of 2 paralielograms in the
rectangular field. Find the area of the unshaded parts of the field.

A

ml
Answer : | (2]

32. DOraw 5 more unit shapes on the grid provided to show tesseliation. [2]

o @ & . ®. @ . . @ @ @ L]

® @

-3 @ o @
o @ a @
o- & o o
a @ @ L} -8 @ o (=] @
L] @ & L] ;1‘&‘ aQ L= L] <

T3



33, A styrofoam cuboid is 72 cm long 56 cm wide and 30 cm tall. 3-cm cubes are cut
from it. What is the minimum wastage? :

Answer : - cm? 2]

34. . Thg_grapﬁ-bezow shows the amount of money Ai E_ihg(spegf over five days.

-~ - $6.90
$5.00 4---------o--. oo
. k
L $A00 - eees SE] REEEEERE -~}
FQ. - . -
5 $308 |y
= e _
S $200 4-{--{--f-fo-f-te I
£ |
$1.00 4-{--4--- -y oo
$0.00 —~ : ; ;
Mon Tue Wed/ The Fr
Days of the Week

Al Ling had $20 at first.
How much money did she have at the end of Wednesday?

Answer:§ ' [21




35. The daily car park charges for are as foliows:

First hour 1 $2.00 |
Each subsequent half hour or part thereof $1.25 '

ir. Lim parked his car from 7.45 am. to $2.25 p.m.
How much was his parking charge?

Answer:$ | , 21

75

o



Section C _
For questiocns 26 ta 43, show your working clearly in the Space provided
for each question and write yeur answers in the spaces provided.

The number of mariks availabla is show in brackets | 1 at the end of each
question or part-question. '

{50 marks) :

36. The figure is made u quares of lengths 3 em, 5 cm and 6 om,
Find the area of mm parts. '

Answer : 3]

37. Inthe figure, ABCD is a rectangle. Find Zx.

A - b

Answer: {3}
4

10




38 In the diagram not drawn {0 scale, PGRS is a parallelogram.
Find
{(2) ZTPQ
(b} LPTR

Answer : (a) [

(b) {2}

-39 Adrian and John saved $880 altogether. %m‘ Adrian's savings is $40'\n_}9f?3 an z

of John's savings. What is(Jahn’,‘s savings?

i1



:@,

Answer -

49- Paly eams 12.5%(moreithan Tanny. If they eam $1156 gitogethe), how much
does Paity eam?

: Answer.: ] 13]

% in the figure, not drawn {o scale, CE & DF gre straight lines. Point G is the cenfre
of the circle. ' :
- Find
(a} £ OCD
(b) £ BAD

96°
322

Answer : (a). ‘ {1}

by . (21
1

12




42. A factory was fequired o produce a certain number of toys in four days.
On the first day, i produced -;— of the required number of toys.

On the sccond day, it pé’oduoed another 20 {oys.

On the third day, it produced as many fovs as those produced on the first iwo
days. -

On the fourth day, it completed the remaining 8 toys.

How many toys did the factory produce in the four days?

Aaswer : , f4]

13



43. Alice left Town X af 8.30 a.m. and travelied fowards town Y at an average speed
of 80 kra/h. Belinda left Town X 45 minutes fater and fravelied towards Town Y
along the same route af an average speed of 84 km/h. '

a} How far apa?é were they at 10 a.m.?

b) If Belinda increased her speed by 18 km/h after 10 a.m., how long would it be
befoa_'e she overtakes Alice? :

Answer : (a) [l

(D) _ =13

14




Amy, Beth and Came have some money. Iif Amy gives $3/56/to Beth, the two girls
will have an g;;uha% amourtt of money. if Beth gives $3.50 to Amy, Amy will have

thiice as much foney as Beth. Carie's share is theguf)of the other two girs.
How much money do they have atioggther?

Answer : i} 4}

&l

15



45. The figure helow shows a big ciccle and 8 identical quarter arcs. Point O is the
cenire of the circle and the diameter AB is 20 cm long.

(a) Find the total arez of the shaded parts in the figure.
(b} Find the perimeter of the w in the figure.

[Take = = 3.14]

Answer : (a) ' (2]

®)_ {3}

&2

i6




46, The base of the confainer is a square of side 8 cm. fwelve d-cm cubes ars
' . .. O
placed in the container. Water is then poured intc the conlainer untit it is 5 futi,

When ali the cubes are removed withaut any loss of water, the water tevel drops to

. % the height of the container.

{a) Find the volume of the twelve cubes.

(b} Find the height of the container.

Z

Answer : (a) HF
(b} __ b

- 3

83

[Ty
~1



47. Mathew put aside one 20
he put aside three 20-ce

cent coins more than the previous day.

(a) Complete the table below.

nt coins as his savin

-cent coin as his savings on the first day. The next
gs. Each day he put aside two 20-

Number of coins
Day saved each day fotal number of coins
1 1 | 1 B
2 3 4
3 5 g
4 -
5

(b} How many 20-cent coins did Mathew save pﬁihe 25" day?

{c} When Mathew had saved 121 coins altogether, 'what day would it be?

18

Answer - {b)

. [2 marks}

{c)




1 . . - "
4;-‘;/ tn a concert hall, 5 of the audience were children. 75% of the adults were women.
' There were 280.moreAvamen than children.

{a) How many women were there in the halt? {2§

(b} During the interval, some men left the hall. As a resuit, 12%of the rémaining
audiences were men. How many m_en@the hall? {31

Answer : (a) 2]
RO N 3]

8=
19
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37)180° -128° =52°
Gg° +52° =142°
180° -142° =38° { ¥x)
4t is 38° '

38)a)180° -128° =52°
52° -20° =32°
It is 32°
B)52° +32° +128° =212°
360° -212° =148°
It is 148°

39)Adrian’s saving—> A
John's saving—>J

A+3=880
Yo A=1 3+40
5
4 A=4 3+160
5
4 343+160=880

£

W

4 3+5 3 + 160=880
5
93+ 160=720

L

%]

93 =720

ot

13>720--9=80

5

J>80x5=400

John's saving is $400.

Page 2



A0)YL00%e+100% +12.5%=212.5%
$1156+212.5=$5.44
112.5%>112.5x$5.44=$612
Patty earned $612

41)2)180° -96° =84°
180° -84° =96°
06° +2=48°
+£OCD is 48°

b} CAD>180" -90° -48° =42°
+<BAC—>32° +2=16°
42° +16° =58°

It &ts 58°
4.2) FD | 20
sp A
: 1.0 8 (F.D}

4 units=20+ 842041 umit
¥ v
Second day- 4™ day 3™ day
4 untts—48+ 3 wik
3 uniis=>48
I unit>48-3=16
5x16=80 '
The factory produced 8@ toys.

43}ja)Alice 1Yk
S.3Ca.m—1C a
Bistance traveifed-> :ﬂ.‘ﬂfz 190k fhh=135km
Belinda 4smin(3%h)
2.153.51. » 203010,
Distance travelfed—> 32h x 84km/h=63km
They were 72km apart.

Page 3
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43)h)}Belinda’s new speed—>84knfh+18km/h=102km/k
Faster than Alice by—>102kunf h-90ka / h=12km i o
Time needed—>72km— 1 2km/h=60h
it would be Gh long.

44YAmy, Beth
- «—3 parts

¥

3.50 3.50 B.5 3.50

A

B| [

1 part

2 parts>%$3.50 x 4
1 part >$3.50x2=%7
Betty —>$7+$3.50=3$10.5C
Emy —>%$L0.50+$7=$17.5C
Carfle >$10.50+$17.50=$28
. Total amt. of money>$10.50+$17.506+$28=%$56
They have $56 altogether.

45)aMength of £ square
> 20cm = 4=5Cm
area of 1 square
2> 5oemixScmn=25cm:
area of shaded parts
=2 25cmxd =100cmm
The total area is 108cm:2

b)perimeter of 1 circle
- 2>2x3.14x5cm=31.4cm
2 circle peri
>31.4cmx2=62.8cm
10cmx4=40cm
62.8cm+40cm=102.8cm
The perimeter is 102.8cm

Page 4



4G}z Volume of 1 cube
—4cmydcm=64Cs
Volume of 12 cubes
—>64cnxi2=768cm:
The volume of the twelve cubes is 768cms

b} 768CcimsxE=4608cms
ScmxBomx| 72 |cm=4608cmns -

The helght of the container is 72cm.

47¥a)4) 7, 16
5} 9, 25

b)25" day—>25%x25=625
Mathew saved 625 coins.
E)] 1 x| =121

it would be the 11™ day.

A481a)6 units =4.5 unifs
10G% 75%
7 units—>230
I wnit >280-7=40
Women—>9x43=360
There were 360 women in the hail.

2}100%-12%=88%
88% > 1ix40=44C
1% —=>440--88=5
12%—>12x5=60
A0x3=120
120-60=60
&0 men [eft the hail.
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